EAGRAROBREERT — 2 N— IBISH —F

2021547188 (B) 3EIFLI8H

Bil=rs 1 v5%3% (ER) # - % (5% ©F

‘ [Riz] ¥ ‘ [REBE] — | Z (%) 2000M 4=

[A~&<£] 1 7% 110,000,000 § 2 & :44,000,000 @ ~ 3 j&:28,000,000 8 4 3 :17,000,000 F 5 7 : 11,000,000 [

& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
4 3 | HLUEse 2:00.6 3-4-4-4 | 36.7|110.9| 2 504 | EBFME— ()
1N 7| 77407 57.0 (=) 10 | ) FrAYET7—L
LIET7RAT7 B4 T74—AN—Fh J—HrTy—LA
: 4 3 | HOHE 2:01.1 2-2-1-1 | 37.5[106.7| 8 462 | REE (EH)
213 24 MLERILE — 57.0 3) (Cay | 1LiEBBA
R:KkwIx>F B:x—"z FEX %Y K
= =5 _ 4 3 | SHEA 2:01.1 13-10-10-8 | 36.7 | 106.1| 6 500 |ZAE#ENT (RR)
sl 3| A777zA—-Fz 57.0 (7€) o |XHER
LT BiA—<ANRIE— J—HrTr—L
S i # 3 | C. bx—J 2:01.2 6-7-7-7 | 37.1[105.4| 3 482 | RARER (R®)
411 |7 ERLAYNSL 57.0 7E) ) |EEET
Z:A—-K»7+07 B:X9z7 b3y =Y Tr—LA
4 3 | AHEER 2:01.2 10-13-13-8 | 36.6 | 105.0 | 11 504 | REREX (EH)
sl I—F-LT17 57.0 (76 Ly |EFRAE_NF (TR ()
T4 =742 N7 b B:yOux%v=F> J—HrTy—LA
= # 3 | M. FL-0O 2:01.3 6-9-7-8 |37.2|104.5| 7 500 | DNEEFEGA (35id)
6l8l15| 772717 & 57.0 (1/2) (2) | B RU-—IfFL—3>Y
RN—Y9I54 B:xFAXZLTFH J—HrTr—LA
= SN 4 3 | FlEEX 2:01.4 14-14-13-14| 36.8 | 103.2 | 10 | 444 |MWIZFEHF (BR)
7 1 F1—TELZE— 57.0 (7¥) (-g) | PMMKU—LZST (#)
LFA—TALNT N B:YZREU—FY KIS
v RA _5 4 3 | BKH— 2:01.8 6-4-2-2 | 38.1|100.6 | 9 478 | BIREER (RR)
g|8|16| Ly FNIA—T 57.0 @ 1/2) Y A ZL—D T
R:F4—TA4>17 8 B:LyRT7La97 ST r—L
i = o3 | A 2:02.1 10-10-10-12| 37.7 | 97.3 | 4 478 | WAFE (ER)
9 5|74 77477 57.0 (1 3/4) -2 ) G1L-voy
LN=V7714 B:J4NVIZT J=YrTrp—L
S 3 | AEHRIR 2:02.2 14-14-16-12| 37.2 | 95.8 | 15 | 472 | AREHELT ()
] > MIEEIPP A 57.0 (3/4) o) | EMEX
RN—YIFTL BiA—Txvy b BAT 7 — L
3 > . 4 3 | ZHER 2:02.4 10-12-10-14| 38.0 | 94.9 | 13 | 440 |iEKAF (BH)
15|10/ Y277V IA=X 57.0 (1 1/4) -4) @) %0y hTr—L
L:Fq—TA b By FO-X J—HrTr—L
1 IS A% 3 | EHEBZ 2:02.4 1-1-2-2 | 38.8| 96.0 | 14 | 506 |4EFHF (RR)
120l 12| 7=V RUNANIL 57.0 () © |sAma
L:IE77x%47 B:&2U7 EREe ]
= _ - 43 | dtkR— 2:02.6 6-7-7-8 |38.5| 93.8 | 5 516 | BEZEE (ER)
13/5/ 9| 7 T4 57.0 ) o) |HEE
L:ANTz—"F) B:aH—>avy J—=YrTr—L
¢ Z > # 3 | ARG 2:02.9 16-16-13-16{ 38.4 | 90.9 | 16 | 534 |HOEELREN (%)
14/ 1|2 |V=/NAT V-0 57.0 (1 3/4) © | TEFRZA-LT TR ()
L:d—IRYy T BNERXZXT4—1— BAT77—L
P )L H .y K 4 3 | JIEEH 2:03.1 3-3-4-5 |39.3| 90.5 | 1 504 | RHEET (EX)
Eﬂ g| &/ >H¥xy R 57.0 ) (g | W) F/v02
R:TwRET4 BIEVITY =¥ Tr—L
- = o3 | IBHEFER 2:03.6 5-4-4-5 |39.8| 87.0 | 12 | 494 |FEEX (i)
1600 14| 7YY /1827 57.0 @ 1/2) e |EHED
R4 g RT—IEY BINAEyFIA—2 Eige ]
@ 71 L
) 48.9-37.0
NA &AL | 12.1-11.7-12.5-11.9-12.1-11.4-11.9-12.1-12.3-12.6
® I —F—EBIERL
1=3—F— 12,13(7,8)14(1,9,15,16) (5,6,10)3-(4,11)2
== — 12,13,8(7,14,16) (1,9)15(3,5)10,6(4,11)2
Fol=5r= (12,x13,16) (7,8,14) (1,9,15) (3,5,10) (6,11,2)-4
40—+— (12,¥13,16)7(8,14)1(3,9,6,15) (4,5) (11,10)-2
[ N3
BB 7 370H 714K 7-13 1,540H ) 4-7 1,150/ 3JEHE 3-7-13 20,0004
8 B 7 170 3-7 1,150M B = 7-13 4,300M K31 7-13-3 82,320
13 490M 3-13 3,560 | | B B 7-13 5,510
3 380M

ARICOVWTRDTEEERROODE. TR LIV,




